

Journal of Scientific Research & Reports

17(1): 1-6, 2017; Article no.JSRR.37520 ISSN: 2320-0227

A Moments of Generalized Two Variable Szasz Operators

Aynur Mammadova^{1*}

¹Department of Mathematical Analysis, Institute of Mathematics and Mechanics, Azerbaijan National Academy of Sciences, Baku, Azerbaijan.

Author's contribution

The sole author designed, analyzed and interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/JSRR/2017/37520 <u>Editor(s)</u>: (1) Wei-Shih Du, Professor, National Kaohsiung Normal University, Taiwan. <u>Reviewers</u>: (1) Grienggrai Rajchakit, Maejo University, Thailand. (2) Tuncay Tunc, Mersin University, Turkey. (3) Francisco bulnes, Technological Institute of High Studies of Chalco, Mexico. Complete Peer review History: <u>http://www.sciencedomain.org/review-history/22047</u>

Original Research Article

Received 19th October 2017 Accepted 17th November 2017 Published 24th November 2017

ABSTRACT

In the present paper some moments of generalized one-dimensional Szasz operator in the spaces of continuously differentiable functions is found. Also, in two-dimensional case a generalization of Szasz operator is considered and certain moments of this operator in the spaces of continuously differentiable functions is found.

Keywords: Szasz operator; generalized Szasz operator; spaces of continuously differentiable functions; moments.

(2010) AMS Classification: 41A36, 41A65

1. INTRODUCTION

This work is devoted to the computing of some moments of generalized Szasz operator. To reveal what novelties this paper brings, we briefly present both a background and some historical comments. The main problem of approximation theory consists in finding for a complicated function a close-by simple function. At 70 years old, Weierstrass (1815–1897) proved the density

*Corresponding author: E-mail: ay.mammadova@yahoo.com;

of the algebraic polynomials in the space C[a,b] and of the trigonometric polynomial in $\widetilde{C}[a,b]$. Weierstrass approximation theorem stating that every continuous function on a bounded interval can be approximated to arbitrary accuracy by polynomials is such an important example for this process and has been played the significant role in the development of analysis. By using probability theory Bernstein [1] proved the Weierstrass theorem and defined approximate polynomials in the literature (see [2]). Namely, in 1912, Bernstein [1] constructed an approximate polynomials in the form

$$B_n(f;x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) \binom{n}{k} (x)^k (1-x)^{n-k}, \quad 0 \le x \le 1,$$

where $f \in C[0,1]$. In [3,4] Stancu introduced some generalizations of Bernstein polynomials.

In 1950, Szasz defined and studied the approximation properties of the following operators

$$S_n(f;x) = e^{-nx} \sum_{k=0}^{\infty} f\left(\frac{k}{n}\right) \frac{(nx)^k}{k!}, \quad 0 \le x < \infty,$$
(1.1)

where $f \in C[0, \infty)$ satisfies exponential-type growth condition [5]. In 1962, Schurer [6] introduced and studied the approximation properties of linear positive operators. An extension in q-calculus of Szasz operators was constructed by Aral [7] who formulated also a Voronovskaya theorem related to q-derivatives for these operators. After that several other researchers have studied in this direction and obtained different approximation properties of many operators [8,9,2]. The weighted Korovkintype theorems were proved by Gadzhiev [10]. Recently, approximation theorems for generalized Szasz operators and Bernstein-Chlodowsky polynomials was proved in [11,12].

In this paper certain moments of generalized one-dimensional and two-dimensional Szasz operator are found.

2. PRELIMINARIES

Now we give the definitions of one-dimensional and two-dimensional generalized Szasz operator.

Definition 2.1. Let

$$S_{n,r}(f;x) = e^{-nx} \sum_{k=0}^{\infty} \sum_{i=0}^{r} \frac{f^{(i)}\left(\frac{k}{n}\right)}{i!} \left(x - \frac{k}{n}\right)^{i} \frac{(nx)^{k}}{k!},$$

$$f \in C^{r}[0,\infty).$$
(2.1)

The operator $S_{n,r}(f;x)$ defined by (2.1) is called the generalized one-dimensional Szasz operator.

Remark 2.1. Note that for r = 0 the operator $S_{n,r}(f;x)$ is coincide with classical Szasz operator (1.1).

Suppose that
$$C^{(\ell,m)}(R_+^2) = \left\{ f : \frac{\partial^{i+j} f}{\partial x^i \partial y^j} \in C(R_+^2), 0 \le i \le \ell, 0 \le j \le m \right\}$$
, where $C(R_+^2)$ the spaces of continuously functions on R_+^2 .

,

Definition 2.2. Let

$$S_{n,m,r}(f;x,y) = e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{r} \frac{1}{i!} \left[\left(x - \frac{k}{n} \right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m} \right) \frac{\partial}{\partial y} \right]^{l} f\left(\frac{k}{n}, \frac{l}{m} \right) \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!},$$
(2.2)

where $f \in C^{(\ell,m)}(R^2_+), 0 \le \ell, m \le r, l, m = 0,1,...,r$ and we denote

$$\left[\left(x-\frac{k}{n}\right)\frac{\partial}{\partial x}+\left(y-\frac{l}{m}\right)\frac{\partial}{\partial y}\right]^{i}f=\sum_{p=0}^{i}C_{i}^{p}\left(x-\frac{k}{n}\right)^{i-p}\left(y-\frac{l}{m}\right)^{p}\frac{\partial^{i}f}{\partial^{i-p}x\partial^{p}y}$$

The operator $S_{n,m,r}(f; x, y)$ defined by (2.2) is called the generalized two-dimensional Szasz operator.

Remark 2.2. Note that for r = 0 the operator $S_{n,r}(f;x)$ is coincide with classical two-

$$S_{n,m}(f;x,y) = e^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} .$$

3. MAIN RESULTS

Now we reduce the main results of this paper.

Theorem 3.1. For the generalized Szasz operator the following equalities hold:

$$S_{n,r}(1;x) = 1, \quad r \ge 0,$$

$$S_{n,r}(t;x) = x, \quad r \ge 0,$$

$$\left\{\frac{x}{n} + x^{2}, \quad r = 0, \\ 2 - x = 1, \\ 3 -$$

$$S_{n,r}(t^{2};x) = \begin{cases} x^{2} - \frac{x}{n}, \ r = 1\\ x^{2}, \quad r \ge 2. \end{cases}$$

Proof. Let us take f(t) = 1 in (2.1). We get

$$S_{n,r}(f(t);x) = S_{n,r}(1;x) =$$

$$e^{-nx} \sum_{k=0}^{\infty} \sum_{i=0}^{r} \frac{f^{(i)}\left(\frac{k}{n}\right)}{i!} \left(x - \frac{k}{n}\right)^{i} \frac{(nx)^{k}}{k!} = 1.$$

$$f^{(0)} = f \equiv 1,$$

$$f^{(i)}\left(\frac{k}{n}\right) = 0, \qquad i \ge 1.$$

Suppose f(t) = t and let us take $t = \frac{k}{n}$. We have

$$S_{n,r}(f(t);x) = S_{n,r}(t;x) =$$

$$e^{-nx} \sum_{k=0}^{\infty} \sum_{i=0}^{r} \frac{f^{(i)}\left(\frac{k}{n}\right)}{i!} \left(x - \frac{k}{n}\right)^{i} \frac{(nx)^{k}}{k!} = x,$$

Where

$$f^{(0)} = f\left(\frac{k}{n}\right) \equiv \frac{k}{n},$$
$$f^{(1)}\left(\frac{k}{n}\right) = 1,$$

and

$$f^{(i)}\left(\frac{k}{n}\right) = 0, \qquad i \ge 2.$$

Therefore

$$S_{n,r}(t;x) = e^{-nx} \sum_{k=0}^{\infty} \left(\frac{k}{n} + \left(x - \frac{k}{n}\right)\right) \frac{(nx)^k}{k!} = x$$

Finally we take $f(t) = t^2$. We get

$$S_{n,r}(f(t);x) = S_{n,r}(t^{2};x) =$$

$$e^{-nx} \sum_{k=0}^{\infty} \sum_{i=0}^{r} \frac{f^{(i)}\left(\frac{k}{n}\right)}{i!} \left(x - \frac{k}{n}\right)^{i} \frac{(nx)^{k}}{k!} = x^{2},$$

Where

$$f^{(0)} = f\left(\frac{k}{n}\right) \equiv \left(\frac{k}{n}\right)^2,$$
$$f^{(1)}\left(\frac{k}{n}\right) \equiv 2\frac{k}{n},$$
$$f^{(2)}\left(\frac{k}{n}\right) \equiv 2,$$

and

$$f^{(i)}\left(\frac{k}{n}\right) = 0, \qquad i \ge 3.$$

Mammadova; JSRR, 17(1): 1-6, 2017; Article no.JSRR.37520

It is obvious that for r = 0 we have

$$S_{n,0}(t^{2};x) = e^{-nx} \sum_{k=0}^{\infty} \frac{k^{2}}{n^{2}} \frac{(nx)^{k}}{k!} = \frac{x}{n} + x^{2}.$$

For r = 1 we get

$$S_{n,1}(t^2;x) = e^{-nx} \sum_{k=0}^{\infty} \left(\frac{k^2}{n^2} + 2\frac{k}{n} \left(x - \frac{k}{n} \right) \right) \frac{(nx)^k}{k!} = x^2 - \frac{x}{n}$$

Finally, for $r \ge 2$ we have that

$$S_{n,r}(t^{2};x) = e^{-nx} \sum_{k=0}^{\infty} \left(\frac{k^{2}}{n^{2}} + 2\frac{k}{n} \left(x - \frac{k}{n} \right) + \left(x - \frac{k}{n} \right)^{2} \right) \frac{(nx)^{k}}{k!} = x^{2}.$$

Proof: It is obvious that, if $f(t, \tau) \equiv 1$, then we have

$$S_{n,m,r}(1;x,y) = e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \sum_{i=0}^{r} \frac{1}{i!} \left[\left(x - \frac{k}{n} \right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m} \right) \frac{\partial}{\partial y} \right]^{l} f\left(\frac{k}{n}, \frac{l}{m} \right) \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = 1$$

Obviously,

$$f^{(0,0)} = f \equiv 1$$

and

$$f^{(i,j)}\left(\frac{k}{n}\right) = 0, \qquad i+j \ge 1.$$

Let us take $f(t, \tau) \equiv t$. Then we get

$$S_{n,m,r}(t;x,y) = e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \sum_{i=0}^{r} \frac{1}{i!} \left[\left(x - \frac{k}{n} \right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m} \right) \frac{\partial}{\partial y} \right]^{i} \frac{k}{n} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = \\ = e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \sum_{i=0}^{1} \frac{1}{i!} \left[\left(x - \frac{k}{n} \right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m} \right) \frac{\partial}{\partial y} \right]^{i} \frac{k}{n} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = \\ = e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \frac{k}{n} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} + e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \left(x - \frac{k}{n} \right) \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = x,$$

where

$$f^{(0,0)} = f\left(\frac{k}{n}\right) \equiv \frac{k}{n},$$
$$f^{(1,0)}\left(\frac{k}{n}\right) = 1, \ f^{(0,1)}\left(\frac{k}{n}\right) = 0$$

and

$$f^{(i,j)}\left(\frac{k}{n}\right) = 0, \qquad i+j \ge 2.$$

This completes the proof of the Theorem 3.1.

Remark 3.1. Note that for Theorem 3.1 in different form was proved in [13].

Theorem 3.2. Let $f \in C^{(i,j)}(R_+^2), 0 \le i, j \le r$. Then the following equalities hold:

$$S_{n,m,r}(1; x, y) = 1$$

$$S_{n,m,r}(t; x, y) = x,$$

$$S_{n,m,r}(\tau; x, y) = y,$$

$$S_{n,m,r}(t^{2}; x, y) = x^{2},$$

$$S_{n,m,r}(\tau^{2}; x, y) = y^{2},$$

$$S_{n,m,r}(t\tau; x, y) = xy.$$

In the same way, if $f(t, \tau) = \tau$ then we have

$$S_{n,m,r}(\tau; x, y) = \frac{\tau}{m} + y - \frac{\tau}{m} = y, \qquad \tau = \frac{\tau}{m}.$$

Obviously,

$$f^{(1,0)}\left(\frac{l}{m}\right) = 0, \quad f^{(0,1)}\left(\frac{l}{m}\right) = 1,$$

 $f^{(i,j)}(\tau) = 0, \qquad i+j \ge 2.$

$$f^{(0,0)} = f\left(\frac{l}{m}\right) = \frac{l}{m},$$
Further, we get
$$S_{n,m,r}(f(t,\tau);x,y) = S_{n,m,r}(t^{2};x,y) =$$

$$= e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \sum_{i=0}^{2} \frac{1}{i!} \left[\left(x - \frac{k}{n}\right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m}\right) \frac{\partial}{\partial y} \right]^{i} \frac{k^{2}}{n^{2}} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} =$$

$$= e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \left(\frac{k^{2}}{n^{2}} + 2\frac{k}{n} \left(x - \frac{k}{n}\right) + \left(x - \frac{k}{n}\right)^{2} \right) \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} =$$

$$= e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \left(\frac{k}{n} + \left(x - \frac{k}{n}\right) \right)^{2} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = x^{2},$$

where

$$f^{(0,0)} = f\left(\frac{k}{n}\right) \equiv \left(\frac{k}{n}\right)^2,$$

$$f^{(1,0)}\left(\frac{k}{n}\right) = 2\frac{k}{n}, \ f^{(1,0)}\left(\frac{l}{m}\right) = 0,$$

$$f^{(2,0)}\left(\frac{k}{n}\right) = 2, \ f^{(0,2)}\left(\frac{k}{n}\right) = 0$$

and

$$f^{(i,j)}\left(\frac{k}{n}\right) = 0, \qquad i+j \ge 3.$$

In the same way, if $f(t, \tau) = \tau^2$ then we have

$$S_{n,m,r}(\tau^2; x, y) = y^2$$

After some calculation, we get

$$\begin{split} S_{n,m,r}(f(t,\tau);x,y) &= S_{n,m,r}(t\tau;x,y) = \\ &= e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \sum_{i=0}^{2} \frac{1}{i!} \left[\left(x - \frac{k}{n} \right) \frac{\partial}{\partial x} + \left(y - \frac{l}{m} \right) \frac{\partial}{\partial y} \right]^{i} \frac{k}{n} \frac{l}{m} \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = \\ &= e^{-nx-my} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \left(\frac{k}{n} \frac{l}{m} + \frac{l}{m} \left(x - \frac{k}{n} \right) + \frac{k}{n} \left(y - \frac{l}{m} \right) + \left(x - \frac{k}{n} \right) \left(y - \frac{l}{m} \right) \right) \frac{(nx)^{k}}{k!} \frac{(my)^{l}}{l!} = xy. \end{split}$$

and this ends the proof of the Theorem 3.2.

Mammadova; JSRR, 17(1): 1-6, 2017; Article no.JSRR.37520

4. CONCLUSION

Thus, some moments of generalized onedimensional Szasz operator in the spaces of continuously differentiable functions is found. Also, in two-dimensional case a generalization of Szasz operator is considered and certain moments of this operator in the spaces of continuously differentiable functions is found.

ACKNOWLEDGEMENTS

The author would like to thank the Editor and the referee for carefully reading the manuscript and for their valuable comments and suggestions which greatly improved this paper.

COMPETING INTERESTS

Author has declared that no competing interests exist.

REFERENCES

- 1. Bernstein SN. Demonstration du theoreme de Weierstrass fondee sur le calcul de probabilities. Commun. Soc. Math. Kharkow. 1912–1913;13(2):1–2.
- Mishra VN, Sharma P. On approximation properties of Baskakov-Schurer-Szasz operators. Applied Mathematics and Computation. 2016;281:381–393.
- Stancu DD. Approximation of function by new class of linear polynomial operators. Rev. Roumaine Math. Pure Appl. 1968;13: 1173–1194.
- Stancu DD. Approximation of function by means of a new generalized Bernstein operator. Calcolo. 1983;211–229.

- Szasz O. Generalization of S. Bernsteins polynomials to the infinite interval. J. Research Nat. Bur. Standards. 1950;45: 239–245.
- Schurer F. Linear positive operators in approximation theory. Math. Inst. Techn. Univ. Delft Report; 1962.
- 7. Aral A. A generalization of Szasz-Mirakyan operators based on q-integers. Mathematical and Computer Modelling. 2008;47:1052–1062.
- Mishra VN, Khan HH, Khatri K, Mishra LN. Hypergeometric representation for Baskakov-Durrmeyer-Stancu type operators. Bulletin of Mathematical Analysis and Applications. 2013;5(3):18–26.
- 9. Mishra VN, Khatri K, Mishra LN, Deepmala. Inverse result in simultaneous approximation by Baskakov-Durrmeyer-Stancu operators. J. Inequal. Appl. 2013;586.
- Gadzhiev AD. Theorems of the type of P. P. Korovkin's theorems (Russian), presented at the international conference on the theory of approximation of functions (Kaluga, 1975). Mat. Zametki. 1976;20(5): 781–786.
- Abdullayeva AE, Mammadova AN. On order of approximation function by generalized Szasz operators and Bernstein-Chlodowsky polynomials. Proc. Inst. Math. Mech. Natl. Acad. Sci. Azerb. 2013;38:3–8.
- 12. Bandaliyev RA, Mammadova AN. On approximation theorems for twodimensional Szasz operator. Trans. NAS Azerb. Issue Math. 2017;37(1):53–61.
- 13. Rempulska L, Walczak Z. Modified Szasz-Mirakyan operators. Math. Balcanica. 2004;18:53-63.

© 2017 Mammadova; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history: The peer review history for this paper can be accessed here: http://sciencedomain.org/review-history/22047